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o, zx o] 27]E FotH?

@ 60° @ 65° @70° @ 75° ® 80°

B i

AB//CD°]1 AB = CD o]t}

/ABE = /DCE = 60°

/BAE = /CDE = x

w2k AABE = ADCE(ASASHS)

/CED = 180° — /BED = 180° — 130° = 50°

ut2tA] /EDC = 180° - /DCE - £/CED = 180°-60°—50° = 70°
olzt.
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“4em-CT~5em-~

O BD=CE ® (AEC = /ADB
® /BAD = /CAE (@)sACD = AACE

® AABD = AACE

~&B

AB = AC (- BHZAS)

(BAD = /CAE

(. 2BAD = £CAE = 60° + /DAC )

AD = AE (- 34Z9)

.. AABD = AACE (SAS &%)
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O®BD = CE

@/AEC = /ADB

® ABAD = ACAE
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18. ©-& I1¥o)A nABCD = oEFGH € o, =

(xy+z) o] 3=

F5tel
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oABCD = oEFGH

TD ¢ tf-g & CH olek. mebs x =3

oA y =5
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®)CE = HF

27+ ABCDE = 27+9 FGHILJ o]t} CE = HJ # HF
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1=M?
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@ y="Tcm

@ /B =95°

@Z = Tcm

@ /A = /H =110°

® x =5cm

® z=EF = DC = 8(cm)
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A% T &7 B2 22!
A
B A
~6cm-"~ C R Q

@ ACﬂ-t‘iPR_’] 7]01_1]____ ]'\:‘|-.
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@ aABC=aKLJ (ASA)  (2)sABC = AMON (ASA)
® ADEF = AMON (SSS) @ADEF = ARPQ (SSS)
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£C = 180° — (60° + 70°) = 50° ,
(A=/D,/C=/F,AC=DF,
.. AABC = ADEF (ASA ¥%)
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AO=BO0,

AP =BP

OP £ 35°lE2
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AAOB ¢} ACPD 9| A]
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29. oS 192 SAS 359 95 AABC = AEDC & VERA 28 o|oh,
/ABC + /ACD 9] & +5}H?

@® 100° @ 110° ® 120° ®)130° ® 140°

~&B ~

SAS &5l 9al AABC = AEDC °o]|B &
/ABC = /CDE = 30°

/ACD = 180° — 80° = 100°

= /ABC 4 ¢ACD = 30° + 100° = 130°
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@ AD = BC @ZOAE — /EBD
® AOBC = AOAD @ AACE = ABDE

® AOAE = AOBE

~&B

©
—

@ aOBC = AOAD 0|22

@ (OAE = /OBE

®O0A =0B, 0OC=0D, /AOB = 3%

- AOBC = AOAD (SAS %)

@ (ECA = (EDB (.- AOBC = AOAD)

LCAE = /DBE (- t<ECA = (EDB, /AEC = /BED)
AC=BD

.. AACE = ABDE (ASA &%)

®

OA = OB, /OAE = /OBE(.- AOBC = AOAD) ,AE = BE(-
AACE = ABDE)

.. AOAE = AOBE (SAS &%)
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31. & 1A AD = BC, AD/BCY of , t}-& =S ¢tof gare
229

D C

AABC 2} ACDA °|4] AD = BC,
()= &5,

AD //BCOo|E22 /ACB = (L)
.. AABC = CDA(SASE%)

AB (1) /CAD @ (7) AB (1) «CDA
AB (L) /ACD @)(7) AC (1) 2cAD
® (1) AC (L) /CDA

AABC 2} ACDA YA AD = BC,ACE ¥
AD //BCo|2= /ACB = /CAD(31Z})
- AABC = CDA(SASSH%)

ol




32.

thS T4 AB = AD, /ABC = /ADE
o ], AABC = AADE©|T}. o]uj §Hxo]
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T ol {2 gure 7129

A # C
O AB=AD, AC = AE, BC =DE
@ AB=AD, AC = AE, /A= 3E
®)AB = AD, /A= 3%, /ABC = /ADE
@ BC=DE, AC=AE /A= 1%
® (A= FE, /ABC = /ADE, /ACB = /AED

AB = AD, /ABC = /ADE, /A £ 35 (ASA &%)
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® /ACB = /DEB @)AE = BE

® /OEB = /0OCB
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AACB = ADEB (ASA &%)
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@® /DAC = /EAB

@ ACD = 30° ©|" LAEB = 90° o]t}
@AEBC = ADCA

@ /ACD = /ABE

® AABE = AACD

AABE €} AACD ©f| A
AB = AC, AE = AD, /EAB = /DAE = 60° 0|22
AABE = AACD (SAS 3%)
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> = s
> = incy
[> =g SSs g
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AABE ¢} ACBF A AE = CF , AB = CB, BE = BF °J|A
SSS &-soltt.

AE = CF, AB = CB, (EAB = (FCB = /R

wr2bA SAS FE T= RHS ¥5olth.
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oADEB,0ACFG & 13|31, CD
AADC ot &5l A3 ez Set=A &2
G

@ aADG, SASTS @ aABC, SASEHE
® aABC, ASATE @ aABG, ASATS
@) sABG, SASTE

& AD = AB
© AC = AG
© /CAD = /CAB + 90° = /GAB

@, ©, ©°l i
AADC = AABG (SAS %)
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2 AL BE 129 (A9 2 )
A D
F
B—t—; C
(©) 5ABE = sADF(SSSTE)
@ AABC = AADC(SSSE%)
® AAEC = AAFC(SASES)
@ AABE = AADF(SASE%)
(B) sAEC = sAFC(ASATS)
@O,® AABE = AADF(SAST-F)
:/B = /D =90°, AB = AD, BE = DF °|t}.
t-gohs & Ho| Ho7t 242 2y O 7)1Zte] At geng
AABE = AADF(SAS?Hs) o]t}
@ AABC = AADC(SSST5, SASEHS)
AB = AD, BC =DC, AC & 352l Holth,
St Al WY Aol 4z o8B 2 AABC =
AADC(SSSE%) o]t}
T AB = AD, BC =DC, /B = /D °|t}.
Sk & W dolrt 242 a1 O 7)1Zte] a7t goeng
AABC = AADC(SASE%) o]t}
®, ® AAEC = AAFC(SASE%)
:EC = FC, /ACE = /ACF = 45°, AC & 3591 Ho|t},
d-§ote T Wo] do|7t 24z 21 1 7|Q1zte| Ar|rt geng
AAEC = AAFC(SASHE) o|tt.




39. thE 199 ACGD & AZHizrgel, AATE ABCD % CEFG
7} thg3} 2ol %oi9lth. aCED & aCGA 2 @H5olah & o,
ol 2AE WEH o FeAL Y 4 AP

A B

(@©)TE = CG, AC = CD, /ECD = /GCA
@ AG =ED, AC = CD, /ECD = /GCA
® CE = CG, AC =CD, /CAG = /CED
@ CE = CG, /ACD = /ECG, /GCD = /CDG
® AC =CD, /ACD = /ECG, /GCD = /CDG

B )

CE = CG ©]2L CD = CA o]t}
(ECD = /ECG + /GCD
=90°+ «GCD
= /ACD + /GCD
= /GCA

wtet A /ECD = /GCA ©]|E& SAS &%of 9l& ACED
ACGA o]t}.
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x+y 9 ke Foofer,

A 7 Y D
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165

B

ABEA ¢} ACED 9|4
BA=CD
BE = CE
/ABE = /DCE = 30°(= 90° - 60°)
.. AABE = ADCE (SAS &%)
1
/BEA = /CED = - x (180° - 30°) = 75°
5y = 360° = (75° + 60° 4 75°) = 150°
1
n X0 = 5 x (180° - 150°) = 15°
S x+y=15+150 = 165




o2 19 4743 ABC £ /B = 90° ¢l A Zto] 54zt ot
HADESHLFGEZZ ¥ AB 9 ¥ BC, H AC E 5535
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A

B H I C

AADF ¢} AEDF 9|4 DF £ 35,

AD = DE, /ADF = (EDF = /EBH = 90° ©|2& AADF =
ADEF (SAS &%)

npzb7k2] ¥ 0 2 AGIC = AGIH (SAS 3H%)

AGIC = AFJG (SAS %)

w2tA AADF = AEDF = AFJE = AHJE = AEBH = AFJG =
AHJG = AGIH = AGIC

2. AADF = 27 + 9 = 3(cm?)
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£ ol AC, CBE A7 g ¥low sl R

A47+4 ACD, CBEE THEQ the =

22 g2 29 A & B
® ¢ACE = /DCB ® AE=DB

® (FAC = /GDC @ AAEC = ADBC

@ADFE = (FAC + /ACF

® (DFE = 180° - (/FAC + /ACF)




43. S 199 AATE ABCD A AE = BF € ), /DGF ¢] 2715
T-tefet,

A D
T\G
E
Bl F C
CF o

>
> H=g: 90°

AABF 9} ADAEO|A] AB=DA --- O

(ABF = /DAE =90° --- ©

BF=AE --- ©®

Q, ©, ©° 95t

AABF = ADAE(SAS3H5)

w2, /ADG = (EAGO|B R

(DGF = /ADG + /DAG = /EAG + /DAG = 90°




44. t3 IPollA AB 9] ZolE Falofat,

@ 2cm @ 3cm ® 4cm @5cm ® 6cm

B )

AE = DE = 2cm ©] 2,

/BAE = /CDE = 65°,

/AEB = /DEC (%Z2]2Z}) o]t}
w2tA AABE = ADCE(ASASHE) ©] 1,
AB =DC = 5cm ©]t}.
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o 1™ 9 aABC °]4 BC 9] 82 M, H3H B ¢ C oA
A2 AM 7 T A4 A of E

W&l 540 e 247 D,E 2 sk
AM = acm, BD =bcm € U], AACM 2] Ho|Z 4,h = AFESH A0
2 UEehfola}
A
E
B\”Q/M f C
D
> L cm?
> ®Heh. Zabem?
ABDM T} ACEM ©]|A]
BM = CM
(DBM = (ECM (%12}
/BMD = /CME (%&2]7})

ABDM = ACEM (ASA &%)
.. CE = BD =b(cm)
AACM 9] Ho]= AM o] ¥@Ho]1 CE 7} &olo|Bz

ab(cm?)

1 1
AACM =— = -
C 2><a><b 5




47. ths 19olA AACD, ACBE = A4tZH3 o], BD ¢t AE ©] 3

P o o, zx o] 2715 F5tei =t

>
> ®eh: 120°

AACD, ACBE 7} A4ztdo]l2=2 AC
(ACE = /DCB

w2kA AACE = ADCB (SAS 3% )
DC o} AE ©] 332 Q 2 57

ADQP 2} AAQC ©f| A

/DQP = /AQC (ZEAZ

LQAC = /QDP (- AACE = ADCB)
o2kA /DPQ = /ACQ =60°

S /x=180°-60° = 120°

=DC, CE = CB,
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@zB =/E
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49. o3 ™A AZE ABC = Bl A D= M AC 9 o
E

414F 919] Holct. 47k9 BDE & 4417l 1, /BAE - /EAD
o] k& Falolat,

47+ ABE ¢t 42+ BCD A

BE = BD,AB = BC

/ABE = 60° + /ABD = /CBD o]|B22

47+4 ABE 9 442+4¥ BCD = SAS $H5o]tt.
- /BAE = /ACB =60°

T3t /BAE + /EAD + /CAB = 180° o] B2 &
(EAD = 60°

w2bA /BAE — /EAD = 60° - 60°=0°




50. o2 1™H9] AR ABCD oA ¥ BC 19 M E 9} £C 2] 9]7}9]
O]SEA 99l A F & /AEF = 90° 7} HA &tk HE AE 9
Zol7b 4em @ o, 42+ AEF 9] W o] & Fotofzt.

A D
F
B E C
> =1 ] C7n12
> HE: 8cm?

B

th 29 2] AC//EG 7} =5 AB 910l & G & ®od

A D
G F
B E C

(ACB = /GEB = 45° (5912

Z, AGBE & AZto|5H4Zyo|ng BG =BE

3tH, AG = AB-GB = BC - BE = CE(9)

(AGE = 180° - /BGE = 180° - 45° = 135°

(ECF = /ECD + /DCF = 90° + 45° = 135°

- LAGE = /ECF(©)

/BAE = 90° - /AEB = /FEC

.. LGAE = /FEC(®)

@, ©, ©°l 2l5to] AGAE = ACEF (ASA &%) .. AE = EF

wt2bA] AAEF = % X 4 X 4 = 8(cm?)




